Economic Development

Some stylized facts and definitions

What characterizes the process of (economic and social) development?

· urbanization of the population

· structural resource shifts—labor and (human and physical) capital—from agriculture to industry to services

· technological change and income per capita growth

· population growth?

· access to safe water, food and housing?

· reduction of infant mortality rates and increase in life expectancy? Provision of health care?

· reduction of illiteracy?

· reduction of poverty rates and/or income inequality?

· involvement of civil societies/democratization?

What is “less” development?

· the majority of economists tend to refer to income per capita growth or the lack thereof when talking about development

· less common: referred to as the lack of improvement in the above indicators (e.g. human development UNDP, also ecological measures of wealth)

Inequality
- During the past 15 to 20 years there has been a tendency for income inequality to increase at the national level.


- Gini coef. for The Netherlands (from UNDP, World Bank):  

~ 28 in 1984  

and

~ 33 in 1994

- Gini for the USA (same data sources) :

~ 37 in 1984

and

~ 41 in 1997

- The case of Sub-Saharan Africa:

In 16 out of 22 countries during the 1990s the poorest 10% of the population owned less than 10% of the income of the richest 10% (and in the other countries it was less than 5%)

- World inequality is very high; and there has also been an overall tendency of a widening of the income gap during the postwar period (HDR 2001).

· For example: In 1993 the poorest 10% of the world’s people had only 1.6% of the income of the richest 10%.

· The richest 1% of the world’s people received as much income as the poorest 57%.

· The richest 10% of the of the US population had a combined income greater than that of the poorest 43% of the world’s people.

Technology and Catching Up

- Also technology is unevenly distributed. 

- Very limited understanding of the process of (national and international) technology diffusion.

· leaping ahead of the technology leader (US overtook UK during late 19th century),

· convergence or “catching up” to the technological frontier (the so-called convergence club—Germany, East Asian Miracle countries)

· falling behind (many Latin American countries, e.g. Brazil and Argentina)

- A good starting point is to believe that technological change is important in understanding the patterns of differential growth performance across time and space.

- Then what are some key questions?

· Where does technical change take place?

· What is necessary for technical change to take place?

· What is the role of markets in technological change?

· Who are important actors?

- The questions will help us identify the different types of models or so-called development paradigms provided in the economics literature.

Development Paradigms

- Probably the key question to distinguish between different classes of economic models is how much emphasis is put on markets in the determination of outcomes. 

- Others point to the importance of so-called social capabilities for economic development (e.g. Amsden 2001):

· Innovation capabilities (skills, human capital, basic and applied research)

· Project execution-investment capabilities (skills, management, monitoring progress)

· Production capabilities to oversee operation of established facilities (planning of production process, trouble-shooting, adapting to new circumstances, quality control etc.).

- The development of new technologies is inherently uncertain which leads to underinvestment, so that there is a role for other actors than the market for coordination and setting incentives (reward and punishment or “carrot and stick”).

· The firm is the key organization in the economy to minimize the problem of uncertainty and to internalize rents from learning (Pack 1992).

· The government can also proactively attempt to offset the tendency for underinvestment due to imperfect information and uncertainty in the economy by “getting the prices wrong” (Amsden 2001).

· The macroeconomy and policy environment—both national and international—determine growth and social performance (Pieper 2000). 

Models based on market allocation

- “Markets provide the most efficient allocation of available resources (land, labor and capital).” What do we need for this?

· Perfect competition among actors in the economy, i.e. an infinite number of actors.

· Constant returns to scale, i.e. no growth from learning.

· Perfect knowledge or information about the future, i.e. complete certainty of the outcome.

- Based on this economic system, incentives are set by competitive or “right” prices, which lead individuals and firms to make decisions that taken together result in optimal outcomes like for example income per capita (i.e., the best we can do with given resource endowments).

- Varieties of this approach are used in the mainstream literature on the economics of growth and international economics and they still dominate the debate on development policy making.

- In particular, it has been used in the growth accounting literature that attempts to identify the different contributions to growth based on the inputs that go into production (so-called aggregate production function):

· The rate of growth of output is a result of two inputs: capital K and labor L plus a technology matrix: q=A + αk + (1-α)l.

· The amount of output growth that isn’t explained by the production function is called the (Solow) residual or total factor productivity (TFP).

· It is the part of the production outcome that doesn’t result from the factor inputs, and is therefore exogenously determined.

· Thus growth in the model is what’s leftover after the factor inputs are accounted for. This part is attributed to technological change. So T = q – [αk - (1-α)l].
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